
Antr"t h'3

NAME:
Math 150Exam 1

IDstrEcdoDs: WRITE YotJR NAME CLEARLY. Do as many ploblems as you can

for a maximal score ol 100 SHOW YOUR WoRK!
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l True orFalse?
- a) For atry firnction r, n31f Q) = f (a)

F
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2. l*t I(x) = - x1 +3x - 2 . Wri[e the equatiou of the targ€nt line ro lhe,Craph of

it*l u, *l'ifrfot, u," derivative '\honcud") |ru pls I
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3. Evaluate ,Ugb *Jl *zr)
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5, use fte QuotieDt Rule to differentiate *,r=# tloptsl

0-r,@=k'k): @

-9ilo2 +5'u4 
" b9._ __ l-9,rrz , =

l ,  -  \ ' L
l t  ->h2)

I
'=a

t -  3,h2,

( t  -S,mat)L

6. suppose rhat /(3\=4, f'(3)=r,8Q)=5'a d I'Q)=2' 
"t"oi'ff not

(/8)'(3).

(tfi't+^t : PIDJz) * fro)S'/o) =

- 4,5+ l-4),2- 5-8 : -3



7 E"at"*am!ry9 [lopts]

t. S,hhdf,n(n> , lrttlZ)l s^ls.l\ _,h" ---- z"-- = 
!!,1 " ^ --*-) -

_t,n (ry)(r#)=
x-->o
t, S,rhe)\ '. /, gnltz\\- AU,f-" 'T 

) 5 (t?-"--iv-) = 2'5 =/a

8. Irt 4>0 be 6 po6itive rcal nunb€f,' 
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'"'=ll" 
t!, 
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What is the vslue of a if f is continuous on the eotiE r€al nutrrb€r lioe? [10 ptsl

n I t cua),ruouc on lk */,v" r") n"n'Au /'rtu

]ln,,n 7arlu./ar., F ,i arr4"a-..t oj z=*-,

7a" l,n fa: Pta:> or
z_>a

l,n fuz): l,u> ttol -'kd
y-te- 7-->a-

T/r" l,n zr - /,- 3* - 3a ' l''le /z'a "b&/h 
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2--+A- Z-+a+
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9. A particle moves along rhe x-axi5 such that its positiol at tirte t is given by

x(t) = -2te' .
a) What is the panicle's vel(f,ityatti'Ipt=z. [8 ptsl

z'/il= -2e+-t/a+ = -2e](l+t)

zt4) = -afh) '-'6o2.

[2 pts]
b) Is the pdticle doving ght or left?

s/h&_,lk "A"* 
I neyafue, lk ,altL t,

h,uvq )" /k UA

10. urrrrr=ffiff
a) Dete'rminethe values ofx for which fis continuous' Wtite 'ouf aDlwer ln

itrtet:val totation.

(-*,-t)0l-t,1)U(4,-)

b) For eacb x wheE the futrctiod.is discontiDuous' **" n *t 
,, Oo,disconbnuitY is ftoovable or nol. .

I&>.= (z**q)(*-a) 
) r r -1, zf ?

7+l

, 't t t ftry\ =o )o )L.ht-"*t*$
ttlolrco ll'l 'l'n 

+
t\ rc.r.,mJ[t- a] z - +
s,r.- 

b-_.-,9cz) ^ t^t.l*t,4.1 , J,kc, nalmm.,*.4,c./r=-t ,
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Extra'Credit

11. Plqve by m€ans of a detla-ePsilon cgumeot thar t4ft'-r)=6 tl0ptsl

lrt-r-61 : lr.+ellz-?l

b* to=' 1

l/r o . l*+e /* f,= |

]1.-" -t.z+2< |

-r<Z- _l

-a4<2a<-t-)=-!

-b <24 < =1

6>l*-cl> t4

-fA"n ?h S: nnl *, t\ ,"r- /ro^.

lro-z-bl= l2*21 lz-11. 5 lz+21 . 
?. 6 = 6.


